Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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) Flg Q1 (a) (08 Marks)
_u1valent resistance oft, the circuit shown in Fig.Ql(b), using star delta
transformat n.

Fig.QI(b) 3 (08 Marks)

c. Discuss the dep"éndefit sources. (04 Marks)

OR

(08 Marks)

b. For the networ
analysis. iy

. ¢ Fig.Q2(b) (08 Marks)
c. Explainthe super Mesh with example. (04 Marks)
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Module-2 \
a. Using super position theorem, find the current through 200 resistor shown in Fig.Q3(a).

(08 Marks)
L+ J2)Q impedance for the

b. Using Millman’s theorem, deten%nif e the current through (2°
network shown in Fig.Q3(b). )

FigQ3(®) . (08 Marks)
write_the procedure to be followed for solving the
(04 Marks)

a. What should be the value of R suchfihat maximum power transfer can takes place from the
ount of this pow ¢ircuit shown in Fig.Q4(a).

@) (08 Marks)

, & Fig.Q
b. Obtain the Thevmm  equivalent cxrcu;t»cro‘ 'AB for the cu’cu‘ shown in Fig.Q4(b).

Fig. Q4(b) A (08 Marks)
c. af fransfer theorem d also write equation of Pmay for both DC and
\C cxrcu1ts (04 Marks)
&
o Mo dule-3
a. Explain the tra) sient behavior of] *the resistance, inductance and capacitor. Also write the
procedure for: valuating transient behavior. (10 Marks)

b. In the network shown in Fig. Q5(b), a steady state is reached with the swatch ‘K’ open. At
t = 0 the switch is closed. etermme the value of V4(0") and V4(0").

\Q N
SV O NLL
2 H
Fig.Q5(b) (10 Marks)
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OR
6 a
ig. (& (10 Marks)
B. =.0. Steady state conditions have
. o) 4
been reached in position 1. Flnq,the value of i, di andjTat t=0" for the circuit shown in
Fig.Q6(b).
Ay ) (10 Marks)
odule-4
7 a. Find the Laplace transform off(t) sho’wn in Fig. Q7(a)
+
(10 Marks)
b.
(10 Marks)
8 a
Fig.Q8(a) (10 Marks)
b. A voltage pulse of 10

and Spsec duration is applied to the RC network shown in
Fig.Q8(b). Find the current i(t).

N @y

O.os Mg

Fig.Q8 (b) (10 Marks)
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a. Derive the expressionggo bandwidth, half powereﬁ&
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Module-5S
a. Obtain y-parameters interms of z-parameters and h-parai (10 Marks)
b. For the network shown in Fig.Q(b), find the T-parameters.
(10 Marks)

quiencies and selectivity of a series
(10 Marks)

o,

resonance circuit.

b. For the parallel r§§0$ant circuit shown in FigiQ10(b), find Io, I, Ic, fo and dynamic

(10 Marks)
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